
M2000 MKI
TCCode Description used pcs.
Front section
720050001 Large Knob (w/nut) for M2000, Finalizer, DBMAX, 

D22, M3000, Reverb4000, ..
1

720050011 Large Knob + encoder + nuts, M2000, Final, DBMax, 
..

1

720052011 Encoder+nut for Wizards 1
589017011 R2057-05  Nut for encoder Wizard 1
589018011 R2055-01  Nut for encoderknob Wizard 1
338056011 R2040-1 Plasticknob for Encoder Black

Circular Diameter 30mm, Ral no.: 9017
1

340030011 ALPS EC16B Encoder Vertical 16mm
Viking

1

720021011 M2000 Front panel w/window 1
581014011 R2001-01   Frontpanel M2000

S2001-2   Silkscreen
1

591018011 R2053-8 Acrylwindow for M2000+M3000 1

591020011 R2056-01   Diff. Filter for M2000+M3000
(Type DS620)

1

720012311 M2000 Front service PCB-set v. PC12501-3
ver. PC12501-3

1

336050011 LCD display Wizard        Backlight=LED
Pickvue PC071CYL Display for Wizard

1

528001811 18 Pol open pinheader double straight
12mm

1

567025011 R2076-0C Spacer Plastic Black,Small, LCD
M2k,Finlz,DBMax,G-Force,FwrX,Gold Ch.

4

338051011 R2031G-2 Platicknob Grey, Ral no.: 7011
3.81x7.62, M2000, Finalizer

5

338052011 R2033B-2 Plasticknob Blue for LED
3.81x17.78,Ral no.: 5014,M2000,Finalizer

1

338053011 R2033G-2 Plasticknob Grey for LED
3.81x17.78,Ral no.: 7011,M2000,Finalizer

18

338054011 R2032-2  Plasticknob Grey
3.81x17.78, Ral no.: 7011, M2000

2

338055011 R2034-1 Light Guide for knob R2033
M2000,Finalizer,DBMax,Gld Chanl

19

576016012 R2015-3 Knob Holder Sheet-0,6 mm
for M2000

1

575031112 R2051-08 PCB Holder Plastic
M2K,Finlz,DBMax,G-Force,FwrX,Gold

2

563040037 2.9x6.5mm FLPX-Z Pozidriv Screw
BN 30905, w/o tip, black zink

8

567024011 R2075-0C Spacer Plastic Black,Large, PCB
M2K,Finlz,DBMax,G-Force,FwrX,Gold

4

503010011 EMI Elastomer Core Gasketing 1m
Chassis
584002013 R2010-9  Cover for M2000

S2010-5
1

584003012 R2011-04  Lid for Wizard 1,2,4,5,6,7 1

586000011 R2002-01  Profil sideplate for Wizard 2
590022011 R2014-01  Insulation for swithmode M2000

          Without foil Duplocoll 2353.
1

Updated by: Gideon Willems
14-01-2008   13:44  Page 1 of 2



M2000 MKI
TCCode Description used pcs.
562010030 3.0x8mm  PH Z Taptite slot for Torx bits

HFC 271  BLACK ZINK
5

562020040 4.0x16mm PHZ Taptite slot for Torx bits
HFC 271  BLACK ZINK

4

563040037 2.9x6.5mm FLPX-Z Pozidriv Screw
BN 30905, w/o tip, black zink

10

563050025 2.5x5mm  PHx Taptite Z Pozidriv Screw
HFC 266  BLACK ZINK           DIN 7500 C

12

576011011 BUMPON SJ5018 12x12x6 BLACK FOOT 1
Mainboard
720011311 M2K mk. I Main service-PCB ver.PC12001-3 Discontinued
720011301 M2K mk.II Main service-PCB ver.PC13001-4 1
567022011 PSTE-3-01 Spacer Plastic 2
560002022 2.2x6.5mm  BN: 14065 DIN 7981F 10
563001025 2.5x6mm  PHJx Z Pozidriv screw DIN 7985

HFC 9041
3

565051025 2.5mm Starwasher type A, Steel Z
HFC 1221                      DIN 6798 A

3

Power Supply
720060011 Wizard power supply

Not for Gold Channel
1

Miscellaneous
720210411 Upgrade kit to M2000 24bit
799011011 CARTON FOR SERVICE: M2000
606051912 TC M2000 Owners Manual V. 4,1, US
606052011 TC M2000 Owners Manual, German

605028011 M2000 mk. I Service Manual, English
547001011 Cable  U.S.A. Black 3x18 AWG SVT

Rewireable Female - U.S. plug with ground
547003011 Cable  EU Europe Black 3x0.75mm H05VV-F

Rewireable Female - Schuko plug
547004011 Cable  UK with 5 Amp fuse Black

Rewireable Female - UK plug

Updated by: Gideon Willems
14-01-2008   13:44  Page 2 of 2


